Quantitative Aptitude 07

Percentage (Class Assignment)

Number of Questions : 58

Level-I 7 6 5
a) 3 b) 7 c) 5
1. 2 is what per cent of 50?
2 |1 50 &1 fhaer gfoera 27 d) 6 ¢) None of these
a) 2 b) 2.5 c) 4 5
d)5 e) 3
8. If 60% of the students in a school are boys and
5 1 the number of girls is 812, how many boys are
2. 3 is what per cent of  ? there in the school? _ _
afe foadl faemera § 60% faenef aes & &R arefdal
%,ﬁr‘r{%?ﬂfﬁﬁmuﬁmﬁ%? @ G 812 ® ) e # g fhdy dsd €7
a) 1,128 b) 1,218 c) 1,821
1
a) 50 b) 33§ ¢) 150 d)1,281 e) None of these
d) 200 e) 100 9. If Ais equal to 20% of B and B is equal to 25% of
C then what per cent of C is equal to A?
3. What per cent of 3.5 kg is 70 gm? gfe A, BP 20% & @R 8 3R B, C P 25% P §¥[6N
70 31 3.5 fbar 1 fae wfdrerer &7 g @ C & foamn uferd A & a_ER 8FmT?
a) 3 b) 4 c)5 a) 10 b) 15 c)5
d) 2 €) 2.5 d) 20 e) None of these

4. 30% of x is 72. The value of x is 10. The salary of a person is reduced by 20%. To

X BT 30%, 72 ¥ | x BT A & restore the previous salary, his present salary
a) 216 b) 240 c) 480 is to be increased by
d) 640 €) 420 fRpel) it @1 I 20% PH b T | SY SHD A
I W AN B IS IIAM Ia9 B B qer
5. 18% of which number is equal to 12% of 75? - ferg i
e e &1 18%, A& 75 & 12% & axTa¥ 87 2'00/ o) 250 17 500
a) 50 b) 100 c) 2 a) 20% ) 25% c) 17.5%
d) 22.5% e) 22%
3
d) - e)3 ) .
2 11. Income of A is 10% more than income of B. Let
B’s income be x% less than A’s income. Find x.
6. 1f20% of (P + Q) = 50% of (P - Q) then find P : Q. A DI I B BT AT ¥ 10% A% & | Al B @l A A
afe (P + Q) BT 20% = (P~ Q) T 50% &1 Tl P : Q I B AT x% BH B, A x B A Tl |
el 1 1
a)7:8 b)7:3 c)7:5 a)9ﬁ% b)lOE% c)11%
d5:7 e) None of these
d) 10% e) 12%
7. 1f 40% of (A + B) = 60% of (A - B) then 2A-3B is 12. Price of milk has increased by 20%. To keep the
A+B expenditure unchanged, the present
2A_3B consumption is to be reduced by
I (A +B) BT 40% = (A-B) BT 60% &1 a1 ~ 5 5 GY ® BT 20% §¢ TS B | TY Bl I & @ B
H1AE R forg adae U # fhae & Bl B
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il udien # 35% ©rd 2= # Ba gy, 45% BT 3Si
2 gC
a) 165% b) 20% c) 18% H el Y SR 20% B3 <1 faudl § bef gU | S BTl
BT Ufrerd Sd I S a1 fawdi | o gee
d) 10% €) 12% a) 45% b) 35% c) 20%
d) 40% e) 30%
13. If the price of a commodity is increased by 50%,
by what fraction must its consumption be reduced | 18. In an examination 80% candidates passed in
so as to keep the same expenditure on its English and 85% candidates passed in
consumption? Mathematics. If 73% candidates passed in both
afe frdlt avg @ Jou H 50% @) gfg & FIY A s these subjects then what per cent of candidates
@ud ¥ fhas WIT @ HH B S I SR @ud W failed in both the subjects?
&1 arel @ UgS R & <7 ol ulen H 80% YT SISl T2 85% 0T H urd
8| Ife 73% YR 9 A fAwdi § Ut gy B
a)% b)% C)% fobem ufdrer geare =1 < fawdi § ber ge?
a)8 b) 15 c) 27
2 d) 35 e) 32
d)g e) None of these
19. Population of a town increases 2.5% annually
iti 0,
14. If 80% of a number added to 80 gives the result bu_t it IS decreased b_y 0.5% every year due to
. - migration. What will be the percentage of
as the number itself then the number is increase in 2 vears ?
Ify fpdY e & 80% @1 80 F e W uRwI Wi years ¢
. : el TR o S | a1ffe wu | 2.5% &) gfg B
| 9T B 81 Al 98 G g
2) 200 6) 320 ©) 400 2, g MRy & sRe ufd ad 0.5% @ & B
d) 480 e) None of these sféfﬁzaﬁf{qﬁg{a%;?%if?rmé ?
a)5 b)4.04 c)4
15. 8% of the voters in an election did not cast their d) 3.96 e) None of these
votes. In this election, there were only two
candidates. The winner by obtaining 48% of the | 20. A businessman’s earning increases by 25% in
total votes defeated his contestant by 1,100 votes. one year but decreases by 4% in the next year.
The total number of voters in the election was Going by this pattern, after 5 years, his total
el g ¥ 8% AAQIARI 3 U Hd & S| g earnings would be “72,000. What is his present
: ing?
AT § Badt &1 € g o | s el geareh J g carning: .
) ¢ e AR TS el ) B g B ad § 259 ¥ o) § SR
HAl & 48% Hd UK HR 1,100 Fdl A FAME H A “
. IS el I 4% ©< SRl 8 | §9 UHR Uld 9y U]
SRl @ e el | 5T 3 o el S IHD! G M 72,000 BT | IHD! a0 1 b
a) 21,000 b) 23,500 c) 22,000 . > '
d) 27,500 e) None of these - . .
a) 10,000 b) 80,000 c) ~40,000
16. 72% of the students of a certain class took Biology d) ~54,000 e) None of these
and 44% took Mathematics. If each student took
at least one subject from Biology or Mathematics Level-ll
and 40 took both then the total number of
students in the class is 1. If the price of a commodity is decreased by 20%
P e B 72% ey 3 Sha R gom 44% 3 and its consumption is increased by 20%, what
R > & R will be the increase or decrease in the
5 ﬁl L Sl el A o 3194’?11%{ . expenditure on the commodity?
@9 B T (a9 foran &1 e 40 fenfer 4 < Ife el aveg ) B H 20% B HH qAT SHB! WU
faw fore @ ot wan | el el @1 den @ ¥ 20% @) gy 8 Y 1 S a%g W e arel @y §
d) 320 e) None of these .
a) 4% increase (@f§) b) 4% decrease (&)
17. In an examination, 35% of total students failed c) 8% decrease (@) d) 8% increase (gf<)
in Hindi, 45% failed in English and 20% failed in e) None of these
both. Find the percentage of those students who
passed in both the subjects? 2. Salary of a person is first increased by 20% then
it is decreased by 20%. Change in his salary is
BSC Academy Quantitative Aptitude-07



Pl =i & a1 H Usel 20% @1 gig BT g AR B
IS da H 209% B HHI B T3 | IqD daq H URdedT
g

a) 4% decreased
c) 8% decreased
e) None of these

b) 4% increased
d) 20% increased

The price of an article was decreased by 10% and
again reduced by 10%. By what per cent should
the price have been reduced once, in order to
produce the same effect as these two successive
reductions?

fopdl a%g &1 Hou 10% G/l 1 3R I9d d1& g
10% =R TRT | 97 H 9 &I b °eaRg] & avlar
B BT 9T A @ forg, IHS Ao Bl U & aR | fha
yfeRra gern =nfag?

a) 15 b) 19 c) 20

d) 25 e) None of these

A number is increased by 20% and then again by
20%. By what per cent should the increased
number be reduced so as to get back the original
number?

T T H Ugel 20% dAT G 20% B gfg dl T 2 |
) g2 e a1 fham ufoerd &9 fean s, arfs ag
UR™S F@IT & dRER 8 A1Y?

3050/ b 19E°/ 40%
a) 9 % ) 31 c) (

d) 44% e) None of these

One side of a square is increased by 30%. To
maintain the same area, the other side will have
to be decreased by

el @t @ Ud YT 30% 9¢1 &1 TE B | AFABe I
& @ & fou g g fea ger g

1 12
23—o 76—o 0
a) 13 % b) 13 % c) 30%
d) 15% e) 20%

A man spends 60% of his income on different
items. His income is increased by 20% and his
expenditure is also increased by 10%. Find the
percentage increase in his savings?

g A Al M BT 60% W11 A= wei W wd
HIAT B | IAD! AT H 20% @ gfg 81 A B vd 39
2 9 A1 10% 1 gfg 8 9Ih 2 | SH@ g9d 4§ gferd

gfg = g
a) 10% b) 15% c) 20%
d) 35% e) None of these

10.

11.

The ratio of the number of boys to that of girls
in a village is 3 : 2. If 30% of boys and 70% of
girls appeared in an examination, the ratio of
the number of villagers appreared in the
examination to that not appeared in the same
examination is

Uh T H oAShl 3R Asibdl &I T B 3MGU
3:232 afd 30% TS 3R 70% wrsfhal fed wien
H 93 a S wem ¥ Yo7 drel iR T Yod dred

TfaaTRId] &1 GAT BT JJU a1 BI?
a)9:14 b) 23 : 27 c)l:1
d) 27 : 23 e) None of these

If the income tax is increased by 19%, the net
income is reduced by 1%. The rate of income tax
is

e R H 19% @1 gig 81, o aened amg H 1% &
HH B Wl 8| AP B &R B

a) 6% b) 4% c) 5%

d) 7.2% e) None of these

Fresh fruit contains 68% water and dry fruit
contains 20% water. How much dry fruit can be
obtained from 100 kg of fresh fruits?

qrol Wl H U BT AT 68% T YW Wel H 20% B |
100 a1 a well | a1 g we ura fFHar s
HHdl 87
a) 32 kg
d) 80 kg

b) 40 kg c) 52 kg
e) None of these

A and B are two fixed points 5 cm apart and C is
a point on AB such that AC is 3 cm. If the length
of AC is increased by 6%, the length of CB is
decreased by

ATl B &l 3R g € o9 1= @1 g9 5 3 & a2
CXERIvE AB WR U& U9 fag & f AC o) <fars 3 &t
g1 afd AC B FETE H 6% BT gfg P WY, 1 CB B
cars | fvat ol 8 Srg?
a) 6% b) 7%

d) 9% e) 10%
While purchasing one item costing ~400, one has
to pay sales tax at 7% and on another costing
"6,400, the sales tax was 9%. The average per
cent of sales tax one has to pay, taking these
items together, is

400 @ FRIG dTell T a%g WG UR 7% fas) R a1
BICT 2 3R "6,400 B T 3 a%g UR I B 9% 2 |
TegaR, It H1E @fad SH =gl @ a1 SN A
e ufoera fas &< a1 8rme?

c) 8%

8E b) 8 =] 8l
) 877 )8 17 083
d)8 e) None of these
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12. Ramesh has 20% savings with him from his 16. The red blood cells in a blood sample grows by
monthly salary. If the expenditure on clothing is 10% per hour in first two hours, decreases by
25% of overall expenditure and his total 10% in next one hour, remains constant in next
expenditure except clothing is “3,600 then find one hour and again increases by 5% per hour in
his savings. next two hours. If the original count of the red
IHY BT 7Y AP 99 F 20% &1 9=9d eial g | gfe blood cells in the sample is 40,000, find the
PUS R GF &S W BT 25% & a1 HUS] B SrfaRad approximate red blood cell count at the end of 6

i o o T . hours.
T W "3,600 € T (" ) FE B R Sid 3 el ek BIRIBIY Ugel &l gl § 10% Ul
a) 1,000 b) 1,500 c) 1,600 . . NN )
d) 1,200 e) None of these ¢ Pl &3 W dgal 8, fhe 37Tl 8¢ 3§ 10% =edl & iR
anTel g¢ # Rer &l g ofik v aprer @1 dei # 5%

13. On a certain date, Pakistan has a success rate gfd o @1 &R 9 gedl ¢ | A} JoId: AT Iad BIRIBIY
of 60% against India in all the ODIs played 40,000 off @1 6 Gl & d1€ ol Iad BB B
between the two countries. They lost the next ﬁﬂTﬁﬁ = =
30 ODIs in a row to India and their success rate HEA A P

a) 40,000 b) 45,025 c) 48,250
comes down to 30%. The total number of ODIs

Lo d) 50,025 e) 58,500

played between the two countries is
TP gﬁ%{ai\fiﬁi @ W< el B iﬁ @:ﬁw W TF | 17, The sum of two positive numbers is 20% of the
CCRID) U™ &1 HRd b Aheldl &R sum of their squares and 25% of the difference
60% 2| 9 YR ¥ 3Nl 30 Ush gl f=i & oiaN of their squares. If the numbers are x and y then
BR Y 3R Id] Aherdl &% IR &R 30% I8 I | & X+Y . |
i @ 4 W W ve ey A6 @ ge e x> 1 equalto
ERIE Tl gATHS FABI BT AN S 9701 & AT BT 20% 2
a) 50 b) 45 c) 60 3R 396 T B IR BT 25% 7 | I T x AR y
d) 30 e) None of these ! X +

g Xzy e grm?

14. A factory’s yearly _budget for the purchase of 1 3 1
employees’ protection shoes increased by 60% a) 2 b) s c) 3
this year over last year. If the price of the shoes
increased by 20% this year then the number of 2
shoes it can purchase this year is what per cent d) g e) None of these
greater than the number of shoes it purchased
last year? 18. In an election between two candidates, 75% of
BT R _ﬁi # fower a¥ @t @F’l_ A1 H 39 9 HHaARAl the voters cast their votes, out of which 2% votes
D GReTl Sl B WS W goie § 60 ufR @1 gig g were declared invalid. A candidate got 9,261 votes
2| aft 39 af Sl @ Ha § 20 ufded A gfE @ which were 75% of the valid votes. The total
S 2 5 a¥ @ o @ Glfﬁ B T firme T number of voters enrolled in that election was

. . o~ ~ N 3 0 -
wide U Sl @ G 9 e ufiera «ifde 2° & a%ghangg 7 75% Feme
3O Hd STet, O A 2% wd ordy \ifYd @) Ay g
3 9 A | USiigd AATsl & gl Gl ol
d) 48% e) None of these a) 16,000 b) 16,400 ¢) 16,800
d) 18,000 e) 16,200

15. Last year, the population of a town was x and if it
increases at the same rate, next year it willbey. | 19. In an election, 10% of the voters in the voters’
The present population of the town is list did not cast their votes and 60 voters cast
fUsel 99, fv R @ SHEwEn x ot iR Ife I8 i their ballot papers blank. There were only two
X I 9 @ a1 e 9 WE y B S| e # candidates. The winner was supported by 47%

‘ - 3 of all the voters in the list and he got 308 votes
more than his rival. The number of voters in the

Xty y - x 2Xxy list was . . .
a) —5 b) 5 ) x+y e gA1d H 10 Ui Adarisi = U Ja T8 QT
3R 60 AJAGTIRI ¥ A U B Well Bl &A1 | dad al
d) yxy e) None of these SHIeaR 9 | fasial SWieaR @1 AR gE b 47
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yferera Acerdral &1 9a e 3R 99 v ufvgs) @
308 Hq Afde el | e H Hacel & W=y fba-
ofy?

a) 3,600 b) 6,200 c) 4,575

d) 6,028 e) None of these
Level-I111

A student solves 80% of the questions from a
guestion paper. He solves 37 questions out of
the first 41 questions and after that solves 5
guestions out of each 8 questions. Find the total
number in the questions of question paper.

T BT 5 Ue—U5 BT 80% YT &1 Il & | USel
41 g § | 37 Ul DI & HRAT B AAT $HD UL
A% 8 U H W 98 5 UL g IRl B | YU H
gl @) G G Fard |

a) 52 b) 65 c)78

d) 104 e) None of these.

2. A man spends 70% of his income. If he got a rise

of 24% in his income and also increases his
expenditure by 15% then find the % increase in
his savings?

TS Afdd U I BT 70% @d Bl B | AR DT
3T 3 24% @ gig 81 1 98 U @I H A1 15% B
gfg ®ear & ) 9D gAd H % gfg T BN |

a) 35% b) 24% c) 45%

d) 55% e) None of these

An empty fuel tank of a car was filled with
A-type petrol. When the tank was half empty, it
was filled with B-type petrol. Again, when the
tank was half empty, it was filled with A-type
petrol. When the tank was half empty again, it
was filled with B-type petrol. What is the
percentage of A-type petrol at present in the
tank?

fredfl R & Wil 3899 B T A TPR & Ugrel § W_T
T | O1g St 3t wgTell B S o 39 B UER B Ugld
H AR AT | G T <ol el @redl 81 18 1 $9 A YR
@ U A W AT | 9 Sl G el wrell 8 S
39 B UBR & UG | URT TRT | a9 | el § A PR
P UST ) Ui a1 87

a) 33.5% b) 37.5% c) 40%

d) 50% e) None of these

In an election between two candidates, 40%
voters of the voting list did not vote and 400
votes were declared as invalid. If the successful
candidate has been supported by 1/3rd of the
votes of the total voters in the voting list and
also got 1000 more votes than his rival candidate

then find the number of valid votes of successful
candidate.

< YRR & d9 fBA1 g9 4, Jaard q& & 40%
HIGTT < AT 781 {3 T2 400 Hall DI 3798 HIf &R
foar mar| e 9%d g & gd Adear g @
1/3 &l &1 G\ e G 1000 AfIRed w4l | a8
U Ufdgal B BRI O Ahd YARN Bl el g
g wdl @ = e |

a) 2000 b) 3000 c) 4000

d) 5000 e) None of these

5. A company bought a total of 60 computers and
20 printers to modernize billing operations. If
the price of each computer was three times the
price of each printer, total cost of the printers
was what per cent of the total cost of the
purchase?

U HUl 9 ufshar @1 agd s & foflt |t 60
PSR 71 20 fier WRIEl | IS IS HYSR Bl DI
g flex @1 o &1 gl ot a1 fUiexi & |t dHd
A P @ Pl fbadl % 87

a) 10% b) 11% c) 15%

d) 20% e) None of these

6. The price of an item went up by 32% and a family
decided to reduce its consumption so that the
total expenditure would increase by only 10% as
compared to the previous expenditure. If 30 kg
of the item was consumed previously then how
many kg of the item should be consumed now?
fpdll gy @1 d\a H 32% P gfg g3 3R Tb yRaR
A @ W BN B Bl [eEy {1 @ifd B @ use
BI UL D] 10% 9 | Il I BT U8l bl @ud 30
o off a1 af@ fbaq fban @ud &= =nf2e?

a) 25 kg b) 24 kg c) 20 kg
d) 18 kg e) None of these

7. The salary of a person is increased by “4800 and
the rate of tax is decreased by 2% (from 12% to
10%). The effect is such that he is now paying
the same tax as before. If in both the cases, the
standard tax deduction is fixed at 20% of the
total income, find the increased salary.

U Afdd & daq H ~4800 B gig g AT PR Bl &)
H 29 B B g3 TG BR Pl I 12% 4 10% 81 TS |
yqIg I8 el b 98 ugel @l ke (@@ JIR0) B Gl
21 Af Sl S2M H A PR Bl Bl A BT 20%
fuiRa 8 1 91 g8 da s By |

a) ~32800 b) 36800 c) “28000
d) "28800 e) None of these

8. A labour works 60 hours a week and gets 2400
as wages. His wage per hour is increased by 40%
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2 were in ratio 4 : 3 : 2. Next year the cost of raw
and hours of work are decreased by 16 - % . Find material rose by 10%, labour cost increased by
) ) ) S 8%, but the overheads reduced by 5%. Find the
% decrease or increase in his weekly wages. percentage increase in the price of the car.
TP AGGY WE H 60 UC P BAT & TAT "2400 forell BR &1 IreT PHA A |EE | T9 o
AU AT @ | SHH! Uft HeT AVl H 40% ) i @ R Bo HIel B B, WoIg) T I HE B @ | el
S ¥ R B B g 162% B9 B O ¥ | 9HD S R R R S
3 4:3:27% |37l 9Y Hed HIel BT BAd 4 10% B gls,
AEed Aofgsl § Uk gig ar HHl @ aY | HXl H 8% @1 gfe oifdb 3 wig & @™ H 5% bl
2 B Bl & | R B BEd § ufderd gie sid B |
16=% j
a) 16 2% increase (7<) a) 10% b) 9% c) 8%
d) 7% e) None of these
2 0,
b) 16§ % decrease (%) 12. The price of an item collectively decided by five
factors: research, raw materials, labour,
<) 121% decrease (@) adverti§ement and transportation. If there are
2 respective changes of 10%, 20%, -20%, 25% and
1 50% in the five factors then find the percentage
d) 125% increase (qﬁg) change in the price of the item.
&Y EINCIL] U ged ¢ JIEY, Fedl
awd ¥SH 1
e) None of these. PPN . ¢
A1, AoIgYl, faemue vd gells W R &_er g1 Al

9. Ram ordered for 6 black toys and some additional g9 UTE "cHl H HHI ISl 19%, 20%, - 20%,
brown toys. The price of a black toy is 2.5 times 25% 3iR 50% 2 1 9% &I D H Ufrerd daard i
that of a brown toy. While preparing the bill, the BN |
clerk interchanged the number of black toys and a) 95% b) 96% c) 97%
brown toys, due to which the bill increased by d) 98% e) None of these.

45%. Find the number of brown toys.
I F 6 Prel Raefl d21 {8 R 1 & Raelld BT 3SR [ 13, The ratio of incomes of four persons is 7: 4: 8:10.
T | vs @rel Racli @1 sHa Ue R RacsT 31 dHd First person saves 40% of his income. Second
BT 2.5 AT 2| AT IR BT IHY FAP T Pl qAT T ?ersor:\ saves 50%. Thir(i pe;sap saves 40%f ar;d
Raell= @1 Rl & TR 95d Qa1 s werawy ourth person saves 10% of his income. If the
. . 3 difference between the total incomes of all the
faeT 5 450 o1 gfe & S | ¥R Rl Y Fwr = HR | four persons and the total expenditures of all
a) 15 b) 12 c) 10 the four persons is ~2700 then find the total
d)18 e) None of these. incomes of all the four persons?
IR AT B 3MHSH 7 : 4 : 81 10 U H 7 | Ugell

10. A salesman used to get 8% on the total sales as & N ST BT 40% T BT & ST KT 50%
commission. Under a new policy, he now gets a ? F 8 0
fixed amount of ~2000 and 5% commission on CIRT crfaT 409 o e w_af 37a 37T BT 10% TeIc
any amount of sales above ~10000. The salesman Bl & | A |1 TR AT D) e I 3R R I
got 540 more this month over the previous month T IR ~2700 & 1 IR afdaal B wd Y T |
although the sales remained the same. What a) 8100 °
was his total sales for this month? b) 8700
% fashal &l B [dbl BT 8% HHIRH & wU 4§ fAewar c) ~9000
2| T FAgER 3fd I ~2000 T AR TAT ~10000 d) Can't be determined.

& 1 B B R 5% B FHiEE Fer B | fawar @ e) None of these.
el 9819 &1 o1 9 ~540 &% Herar & Sdid faml . .

14. The population of the town consisting of only
Ael FEM B NI € S | 39 AL Gof fb o fasp males and females is 9000. If the population of
Es‘? males is increased by 5% and population of
a) 20000 b) ~26000 c) ~32000 females is also increased by 8% then the new
d) ~35000 e) None of these. population becomes 9600. Find the initial number

of males and females.

11. The cost of manufacturing a car is made up of el TR @ S #§ ddd gy SR AfRey Aere?
three items: cost of raw material, labour and 9000 | ufe W A SITEE 5% dor AResl @
overheads. In a year the costs of these items
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ST 8% ded ®, Ol ds oIl 9600 8 ol ® | of boys in class B. The percentage of girls is the
g%y d ARRT B RS S S @) | same in both classes. What percentage of the
a) 4000 and 5000  b) 5000 and 4000 St“dengs are b%/s;e[ " 5
c) 3600 and 5400 d) 5400 and 3600 el B H il A & 50% 39 BT & | Tl A
e) None of these. TS(BAT BT AT BT B B ASDI DI AT B aRIER § |
o _ QI Pensl H Fsfedl B Ul §H § | Bl BTl
15. In an exa_mlnatlon paper of 5 questions, 5% of B1 fraw wired oed 87
the candidates answered all of them and 5% a) 33.33% b) 40% c) 25%
none. Out of the rest, 25% answered only 1 d) 60% e) None of these
guestion and 20% answered only 4. If 24.5% of )
the entire candidates answered only 2 questions :
and 200 answered only 3, how maril cgndidates 18. A student gets an aggregate of 60% marks in
appeared in the exam)i/na’tion’? y five subjects in the ratio 10 : 9 : 8 : 7 : 6. If the
. . ) . passing marks is 50% of the maximum marks
> qs- @ TH T H 5% SHEAR T qg_ P IR and each subject has the same maximum marks,
ad § dU1 5% fHdl W us @& IR @ S| AN in how many subjects did he pass the
IHIGIRI BT 25% Hact b UL AT 20% Hacl 4 YL examination? o o
P TR < & | A Ho SHIGAR] B 24.5% DI al T BTA P Gl 60% 37 did favai # 10:9:8:7
g & SR ST ¥ 9T 200 SR $9d 3 U B £ 6 % YU H U< BIdl & | i AfAdban 37 Bl 50%
SR 39 € A1 wenm F gt fae Sefiear A R | 3P STV B B fOIY 3awad & T YAP [A9d B
a) 500 b) 600 c) 800 JAfIBTH 3ih WA © I fba vy 3§ g8 qRen Il
d) 1000 e) None of these. fopar?
a)l b) 2 c)3
16. A earns 25% more than B. C earns 25% more d) 4 e) None of these
than A. A earns 20% more than D. E earns 20%
more than A. A, B, C, D and E earn amounts in | 19. The salaries of A, B and C were in the ratio
integer but less than "100. What is the total 6 : 5 : 7 respectively in 2016, and in the ratio
amount earned by all of them together? 3 : 4 : 3 respectively in 2021. If A’'s salary
A, B ¥ 25% 31f8% BT & | C, A 25% 3Af&d HAT increased by 25% during 2016-2021 then the
Bl A DI 20% b AT 81 E, A T 20% 31fSd per_cent_age increase in C’'s salary during this
S &1 A, B, C, D 3R E & amae quifei § wreg period is closest to
. 3 L 9y 2016 % A, B 3R C & dad &I 3Juld HHL:
100 | & B g4 qidl @ e fenay @ afdn > _
T B 6:5:7 1 dul ¥ 2021 H I8 P 3:4: 38| AR
a) 300 b) 245 ¢) 305 2016 - 2021 @ SR H A @ a9 9 25% &1 gig g,
d) ~480 e) None of these. 9 C & Ja- H ufawa giE (39 aRM) o 8-
a)7 b)8 c)9
17. Class B has 50% more students than class A. d) 10 e) None of these
Number of girls in class A is equal to the number
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